# AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

check applicable  FEDER	box) AL CANDIDA	ТЕ	STATE/	LOCAL CAN	DIDATE
To Ava Window	il Themselves	s of The Lowe	est Unit Char t Sign The Ce	ge During a ertification O	Political n Page 3
Station and どいせそ-(-	Location:	fur/K30	Ic-fu	Date:	1-18
I,	pher HA	uL			
qualified candida	of: WYSEU  ate of the	(D.			, a legally
in the	ce of:	L Elec	701	Sheritt'	
	eld on:	69 CE-59 K	2018		
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
	See	2- 177A	24ED		
Total Char	ges: 1070	250			
	1-10				

Copyright ©2011 by the National Association of Broadcasters. May Not Be Copied, Reproduced or Further Distributed.

POBOX 516 PECCHA SPRINSD, Colorsso 81242

For programming that, in whole or in panational importance," list the matters be		g to any political matter of
NA		
I represent that the payment for the abo		
and you are authorized to announce the I represent that this person or entity is excommittee/organization of the legally quantities.	ither a legally qualified candidate or	atity. an authorized
The name of the treasurer of the candidate of the treasurer of the candidate of the candida	FATTE HOWARD	annlies ble elegace and rates:
This station has disclosed to me its polit and discount, promotional and other sale	es practices (not applicable to federa	l candidates).
THIS STATION DOES NOT DISCR OF RACE OR ETHNICITY IN THE		
To Be Signed By Car  X OWOVIS  Date	Signature	Committee
To Be Signed I	By Station Representat	tive
Accepted	Accepted in Part	Rejected
(B)	GARY BUCCOUR	PESIDE (5
Signature	Printed Name	Title

Copyright ©2011 by the National Association of Broadcasters. May Not Be Copied, Reproduced or Further Distributed.

# Sales Order

Station: **KBVC-FM**  Buyer:

Contract Name: COMMITTEE 2 ELECT STEPH HALL 2

Tax Schedule: (None)

Contract#:

100812 Agency Commission %: 0

Start Date:

9/18/18

End Date:

11/06/18

Billing Cycle: Calendar

Revenue Type: POLITICAL

Type:

2140hhou

Cash

Salesperson:

15 Comm %:

Advertiser:

COMMITTEE TO ELECT STEPH HALL

Makegood Policy: Within Contract Dates

Address:

Attn: STEPHEN HALL

PO Box 516

City:

Poncha Springs State: CO Zip:

81242

STEPHEN HALL FOR SHERIFF

Competitive Code: Political

DA	TES	Alt	TIM	IES					DI	STR	BUTI	ON				ТО	TALS	DT)/
START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	su	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
9/18/18	11/01/18		6:00 AM	10:00 AM	30		2		2				4	D	10.00	16	160.00	2
Run Weeks	of: 9/18 10	/02 10	0/16 10/30															
9/18/18	11/01/18		10:00 AM	3:00 PM	30		1		1				2	D	10.00	8	80.00	2
Run Weeks	of: 9/18 10	/02 10	0/16 10/30															
9/18/18	11/01/18		3:00 PM	7:00 PM	30		2		2				4	D	10.00	16	160.00	2
Run Weeks	of: 9/18 10	/02 10	0/16 10/30					QV.		y								
9/24/18	10/26/18		6:00 AM	10:00 AM	30	2		2		2			6	D	10.00	18	180.00	2
Run Weeks	of: 9/24 10	/08 10	0/22						50000	250						y as		
9/24/18	10/26/18		10:00 AM	3:00 PM	30	1		1	Ĺ.	1			3	D	10.00	9	90.00	2
Run Weeks	of: 9/24 10	/08 10	0/22															
9/24/18	10/26/18		3:00 PM	7:00 PM	30	2		2		2			6	D	10.00	18	180.00	2
Run Weeks	of: 9/24 10	/08 10	0/22															
9/29/18	11/03/18		10:00 AM	3:00 PM	30						5		5	D	10.00	15	150.00	2
Run Weeks	of: 9/29 10	/20 11	1/03															
10/21/18	11/04/18		10:00 AM	3:00 PM	30							5	5	D	10.00	10	100.00	2
Run Weeks	of: 10/21 1	1/04																
11/05/18	11/06/18		6:00 AM	10:00 AM	30	2	2						4	D	10.00	4	40.00	2
11/05/18	11/06/18		10:00 AM	3:00 PM	30	1	1						2	D	10.00	2	20.00	2
11/05/18	11/06/18		3:00 PM	7:00 PM	30	2	2						4	D	10.00	4	40.00	2
11/02/18	11/02/18		6:00 AM	10:00 AM	30					2			2	D	10.00	2	20.00	2
11/02/18	11/02/18		10:00 AM	3:00 PM	30					1			1	D	10.00	1	10.00	2
11/02/18	11/02/18		3:00 PM	7:00 PM	30					2			2	D	10.00	2	20.00	2
10/01/18	10/07/18		3:00 PM	7:00 PM	30				1				1	D	10.00	1	10.00	2
	START 9/18/18 Run Weeks 9/18/18 Run Weeks 9/18/18 Run Weeks 9/24/18 Run Weeks 9/24/18 Run Weeks 9/24/18 Run Weeks 10/21/18 Run Weeks 11/05/18 11/05/18 11/02/18	9/18/18 11/01/18 Run Weeks of: 9/18 10 9/18/18 11/01/18 Run Weeks of: 9/18 10 9/18/18 11/01/18 Run Weeks of: 9/18 10 9/24/18 10/26/18 Run Weeks of: 9/24 10 9/29/18 11/03/18 Run Weeks of: 9/29 10 10/21/18 11/04/18 Run Weeks of: 10/21 1 11/05/18 11/06/18 11/05/18 11/06/18 11/05/18 11/02/18 11/02/18 11/02/18	START END wks 9/18/18 11/01/18 Run Weeks of: 9/18 10/02 10 9/18/18 11/01/18 Run Weeks of: 9/18 10/02 10 9/18/18 11/01/18 Run Weeks of: 9/18 10/02 10 9/24/18 10/26/18 Run Weeks of: 9/24 10/08 10 9/29/18 11/03/18 Run Weeks of: 9/29 10/20 11 10/21/18 11/04/18 Run Weeks of: 10/21 11/04 11/05/18 11/06/18 11/05/18 11/06/18 11/05/18 11/06/18 11/02/18 11/02/18	START END wks START 9/18/18 11/01/18 6:00 AM Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 10:00 AM Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 3:00 PM Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 3:00 PM Run Weeks of: 9/18 10/02 10/16 10/30 9/24/18 10/26/18 6:00 AM Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 10:00 AM Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM Run Weeks of: 9/24 10/08 10/22 9/29/18 11/03/18 10:00 AM Run Weeks of: 9/29 10/20 11/03 10/21/18 11/04/18 10:00 AM Run Weeks of: 10/21 11/04 11/05/18 11/06/18 6:00 AM 11/05/18 11/06/18 3:00 PM 11/05/18 11/06/18 3:00 PM 11/02/18 11/02/18 6:00 AM 11/02/18 11/02/18 6:00 AM	START         END         wks         START         END           9/18/18         11/01/18         6:00 AM         10:00 AM           Run Weeks of: 9/18 10/02 10/16 10/30         3:00 PM           9/18/18         11/01/18         10:00 AM         3:00 PM           Run Weeks of: 9/18 10/02 10/16 10/30         9/18/18         11/01/18         3:00 PM         7:00 PM           Run Weeks of: 9/18 10/02 10/16 10/30         9/24/18         10/26/18         6:00 AM         10:00 AM           Run Weeks of: 9/24 10/08 10/22         9/24/18         10/26/18         10:00 AM         3:00 PM           Run Weeks of: 9/24 10/08 10/22         9/24/18         10/26/18         3:00 PM         7:00 PM           Run Weeks of: 9/24 10/08 10/22         9/29/18         11/03/18         10:00 AM         3:00 PM           Run Weeks of: 9/24 10/08 10/22         9/29/18         11/03/18         10:00 AM         3:00 PM           Run Weeks of: 9/29 10/20 11/03         10/21/18         11/04/18         10:00 AM         3:00 PM           Run Weeks of: 10/21 11/04         11/05/18         11/06/18         6:00 AM         10:00 AM           11/05/18         11/06/18         6:00 AM         10:00 AM           11/05/18         11/06/18         3:00 PM         <	START END wks START END LEN 9/18/18 11/01/18 6:00 AM 10:00 AM 30  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 10:00 AM 3:00 PM 30  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 3:00 PM 7:00 PM 30  Run Weeks of: 9/18 10/02 10/16 10/30 9/24/18 10/26/18 6:00 AM 10:00 AM 30  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 10:00 AM 3:00 PM 30  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30  Run Weeks of: 9/24 10/08 10/22 9/29/18 11/03/18 10:00 AM 3:00 PM 30  Run Weeks of: 9/29 10/20 11/03 10/21/18 11/04/18 10:00 AM 3:00 PM 30  Run Weeks of: 10/21 11/04 11/05/18 11/06/18 6:00 AM 10:00 AM 30 11/05/18 11/06/18 10:00 AM 3:00 PM 30 11/05/18 11/06/18 10:00 AM 3:00 PM 30 11/05/18 11/06/18 10:00 AM 3:00 PM 30 11/02/18 11/02/18 6:00 AM 10:00 AM 30 11/02/18 11/02/18 6:00 AM 10:00 AM 30	START END wks START END LEN M 9/18/18 11/01/18 6:00 AM 10:00 AM 30  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 10:00 AM 3:00 PM 30  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 3:00 PM 7:00 PM 30  Run Weeks of: 9/18 10/02 10/16 10/30 9/24/18 10/26/18 6:00 AM 10:00 AM 30 2  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 10:00 AM 3:00 PM 30 1  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30 2  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30 2  Run Weeks of: 9/24 10/08 10/22 9/29/18 11/03/18 10:00 AM 3:00 PM 30  Run Weeks of: 9/24 10/08 10/22 9/29/18 11/03/18 10:00 AM 3:00 PM 30  Run Weeks of: 9/29 10/20 11/03  10/21/18 11/04/18 10:00 AM 3:00 PM 30  Run Weeks of: 10/21 11/04 11/05/18 11/06/18 6:00 AM 10:00 AM 30 2 11/05/18 11/06/18 10:00 AM 3:00 PM 30 1 11/05/18 11/06/18 6:00 AM 10:00 AM 30 2 11/05/18 11/06/18 6:00 AM 10:00 AM 30 1	START         END         wks         START         END         M         T           9/18/18         11/01/18         6:00 AM         10:00 AM         30         2           Run Weeks of: 9/18 10/02 10/16 10/30         9/18/18         11/01/18         10:00 AM         3:00 PM         30         1           Run Weeks of: 9/18 10/02 10/16 10/30         9/18/18         11/01/18         3:00 PM         7:00 PM         30         2           Run Weeks of: 9/18 10/02 10/16 10/30         9/24/18         10/26/18         6:00 AM         10:00 AM         30         2           Run Weeks of: 9/24 10/08 10/22         9/24/18         10/26/18         10:00 AM         3:00 PM         30         1           Run Weeks of: 9/24 10/08 10/22         9/24/18         10/26/18         3:00 PM         7:00 PM         30         2           Run Weeks of: 9/24 10/08 10/22         9/29/18         11/03/18         10:00 AM         3:00 PM         30         2           Run Weeks of: 9/29 10/20 11/03         10/21/18         11/04/18         10:00 AM         3:00 PM         30         2           Run Weeks of: 10/21 11/04         11/05/18         11/06/18         6:00 AM         10:00 AM         30 PM         30         2         2	START END Wks START END LEN M T W 9/18/18 11/01/18 6:00 AM 10:00 AM 30 2  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 10:00 AM 3:00 PM 30 1  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 3:00 PM 7:00 PM 30 2  Run Weeks of: 9/18 10/02 10/16 10/30 9/24/18 10/26/18 6:00 AM 10:00 AM 30 2 2  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 10:00 AM 3:00 PM 30 1 1  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2  Run Weeks of: 9/24 10/08 10/22 9/29/18 11/03/18 10:00 AM 3:00 PM 30 2 2  Run Weeks of: 9/24 10/08 10/22 9/29/18 11/03/18 10:00 AM 3:00 PM 30  Run Weeks of: 9/29 10/20 11/03  10/21/18 11/04/18 10:00 AM 3:00 PM 30  Run Weeks of: 10/21 11/04 11/05/18 11/06/18 6:00 AM 10:00 AM 30 2 2  11/05/18 11/06/18 10:00 AM 3:00 PM 30 1 1  11/05/18 11/06/18 6:00 AM 10:00 AM 30 2 2  11/05/18 11/06/18 6:00 AM 10:00 AM 30 1 1  11/05/18 11/06/18 6:00 AM 10:00 AM 30 1 2  11/02/18 11/02/18 6:00 AM 10:00 AM 30 1 1	START END wks START END LEN M T W T 9/18/18 11/01/18 6:00 AM 10:00 AM 30 2 2  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 10:00 AM 3:00 PM 30 1 1  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 3:00 PM 7:00 PM 30 2 2  Run Weeks of: 9/18 10/02 10/16 10/30 9/24/18 10/26/18 6:00 AM 10:00 AM 30 2 2  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 10:00 AM 3:00 PM 30 1 1  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2  Run Weeks of: 9/24 10/08 10/22 9/29/18 11/03/18 10:00 AM 3:00 PM 30 2 2  Run Weeks of: 9/29 10/20 11/03 10/21/18 11/04/18 10:00 AM 3:00 PM 30  Run Weeks of: 10/21 11/04 11/05/18 11/06/18 6:00 AM 10:00 AM 30 2 2 11/05/18 11/06/18 10:00 AM 3:00 PM 30 1 1 11/05/18 11/06/18 6:00 AM 10:00 AM 30 2 2 11/05/18 11/06/18 6:00 AM 10:00 AM 30 11/02/18 11/02/18 6:00 AM 10:00 AM 30 11/02/18 11/02/18 6:00 AM 10:00 AM 30 11/02/18 11/02/18 10:00 AM 3:00 PM 30	START END Wks START END LEN M T W T F 9/18/18 11/01/18 6:00 AM 10:00 AM 30 2 2  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 10:00 AM 3:00 PM 30 1 1 1  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 3:00 PM 7:00 PM 30 2 2  Run Weeks of: 9/18 10/02 10/16 10/30 9/24/18 10/26/18 6:00 AM 10:00 AM 30 2 2 2  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 10:00 AM 3:00 PM 30 1 1 1 1  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30 1 1 1 1  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2 2  Run Weeks of: 9/24 10/08 10/22 9/29/18 11/03/18 10:00 AM 3:00 PM 30 2 2 2  Run Weeks of: 9/24 10/08 10/22 9/29/18 11/03/18 10:00 AM 3:00 PM 30  Run Weeks of: 10/21 11/03 10/21/18 11/04/18 10:00 AM 3:00 PM 30 2 2  11/05/18 11/06/18 6:00 AM 10:00 AM 30 2 2  11/05/18 11/06/18 6:00 AM 10:00 AM 30 2 2  11/02/18 11/02/18 6:00 AM 10:00 AM 30 2 2  11/02/18 11/02/18 6:00 AM 10:00 AM 30 2 2  11/02/18 11/02/18 6:00 AM 10:00 AM 30 2 2  11/02/18 11/02/18 6:00 AM 10:00 AM 30 2 2	START END wks START END LEN M T W T F SA 9/18/18 11/01/18 6:00 AM 10:00 AM 30 2 2 2  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 10:00 AM 3:00 PM 30 1 1 1  Run Weeks of: 9/18 10/02 10/16 10/30 9/18/18 11/01/18 3:00 PM 7:00 PM 30 2 2 2  Run Weeks of: 9/18 10/02 10/16 10/30 9/24/18 10/26/18 6:00 AM 10:00 AM 30 2 2 2  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 10:00 AM 3:00 PM 30 1 1 1 1  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2 2  Run Weeks of: 9/24 10/08 10/22 9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2 2  Run Weeks of: 9/24 10/08 10/22 9/29/18 11/03/18 3:00 PM 7:00 PM 30 5  Run Weeks of: 9/29 10/20 11/03 10/21/18 11/04/18 10:00 AM 3:00 PM 30 5  Run Weeks of: 10/21 11/04 11/05/18 11/06/18 6:00 AM 10:00 AM 30 2 2 11/05/18 11/06/18 10:00 AM 3:00 PM 30 1 1 11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	START END wks START END LEN M T W T F SA SU  9/18/18 11/01/18 6:00 AM 10:00 AM 30 2 2 2  Run Weeks of: 9/18 10/02 10/16 10/30  9/18/18 11/01/18 10:00 AM 3:00 PM 30 1 1 1  Run Weeks of: 9/18 10/02 10/16 10/30  9/18/18 11/01/18 3:00 PM 7:00 PM 30 2 2 2  Run Weeks of: 9/18 10/02 10/16 10/30  9/24/18 10/26/18 6:00 AM 10:00 AM 30 2 2 2  Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 3:00 PM 7:00 PM 30 1 1 1 1  Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2 2  Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2 2  Run Weeks of: 9/24 10/08 10/22  9/24/18 11/03/18 10:00 AM 3:00 PM 30 5  Run Weeks of: 9/24 10/08 10/22  9/29/18 11/03/18 10:00 AM 3:00 PM 30 5  Run Weeks of: 9/29 10/20 11/03  10/21/18 11/04/18 10:00 AM 3:00 PM 30 5  Run Weeks of: 10/21 11/04  11/05/18 11/06/18 6:00 AM 10:00 AM 30 2 2  11/05/18 11/06/18 3:00 PM 7:00 PM 30 2 2  11/05/18 11/06/18 10:00 AM 3:00 PM 30 2 2  11/05/18 11/06/18 6:00 AM 10:00 AM 30 2 2  11/05/18 11/06/18 10:00 AM 3:00 PM 30 2 2  11/05/18 11/06/18 10:00 AM 3:00 PM 30 2 2  11/05/18 11/06/18 10:00 AM 3:00 PM 30 2 2  11/05/18 11/06/18 10:00 AM 3:00 PM 30 2 2  11/05/18 11/06/18 10:00 AM 3:00 PM 30 2 2  11/05/18 11/06/18 10:00 AM 3:00 PM 30 1 1	START	START END wks START END LEN M T W T F SA SU Per Wk D/W 9/18/18 11/01/18 6:00 AM 10:00 AM 30 2 2 2 0 4 D A D Run Weeks of: 9/18 10/02 10/16 10/30  9/18/18 11/01/18 10/02 10/16 10/30  9/18/18 11/01/18 3:00 PM 7:00 PM 30 2 2 2 0 4 D A D Run Weeks of: 9/18 10/02 10/16 10/30  9/18/18 11/01/18 3:00 PM 7:00 PM 30 2 2 2 0 6 D A D Run Weeks of: 9/18 10/02 10/16 10/30  9/24/18 10/26/18 6:00 AM 10:00 AM 30 2 2 2 2 0 6 D A D Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 10:00 AM 3:00 PM 30 1 1 1 1 1 3 D A D Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2 2 2 6 6 D Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2 2 2 6 6 D Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 10:00 AM 3:00 PM 30 5 5 5 D Run Weeks of: 9/24 10/08 10/22  9/29/18 11/03/18 10:00 AM 3:00 PM 30 5 5 5 D Run Weeks of: 9/29 10/20 11/03  10/21/18 11/04/18 10:00 AM 3:00 PM 30 2 2 1 2 1 1 4 D L L L L L L L L L L L L L L L L L L	START END Wks START END LEN M T W T F SA SU Per Wk D/W 9/18/18 11/01/18 6:00 AM 10:00 AM 30 2 2 2 0 4 D 10:00 AU D10:00 AU D10	START END Wks START END LEN M T W T F SA SU Per Wk D/W A D/W SPOTS  9/18/18 11/01/18 6:00 AM 10:00 AM 30 2 2 2 1 4 D 10:00 16  Run Weeks of: 9/18 10/02 10/16 10/30  9/18/18 11/01/18 10:00 AM 3:00 PM 30 1 1 1 2 2 D 10:00 8  Run Weeks of: 9/18 10/02 10/16 10/30  9/18/18 11/01/18 3:00 PM 7:00 PM 30 2 2 2 2 4 D 10:00 16  Run Weeks of: 9/18 10/02 10/16 10/30  9/24/18 10/26/18 6:00 AM 10:00 AM 3:00 PM 30 1 1 1 3 D 10:00 18  Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 10:00 AM 3:00 PM 30 1 1 1 3 D 10:00 9  Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2 2 2 6 6 D 10:00 9  Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2 2 6 6 D 10:00 18  Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2 2 6 6 D 10:00 18  Run Weeks of: 9/24 10/08 10/22  9/29/18 11/03/18 10:00 AM 3:00 PM 30 D 5 5 D 10:00 15  Run Weeks of: 9/29 10/20 11/03  10/21/18 11/04/18 10:00 AM 3:00 PM 30 D 5 5 D 10:00 10  Run Weeks of: 10/21 11/04  11/05/18 11/06/18 6:00 AM 10:00 AM 3:00 PM 30 D 5 D 10:00 4  11/05/18 11/06/18 3:00 PM 7:00 PM 30 D 2 D 10:00 2  11/05/18 11/06/18 6:00 AM 10:00 AM 3:00 PM 30 D 1 D 10:00 D 10  11/05/18 11/06/18 6:00 AM 10:00 AM 3:00 PM 30 D 1 D 10:00 D 10	START END ws START END LEN M T W T F SA SU Per Wk D/W RATE SPOTS SS  9/18/18 11/01/18 6:00 AM 10:00 AM 30 2 2 2 0 4 D 10:00 16 160:00  Run Weeks of: 9/18 10/02 10/16 10/30  9/18/18 11/01/18 10:00 AM 3:00 PM 30 1 1 1 2 2 D 10:00 8 80:00  Run Weeks of: 9/18 10/02 10/16 10/30  9/18/18 11/01/18 3:00 PM 7:00 PM 30 2 2 2 4 D 10:00 16 160:00  Run Weeks of: 9/18 10/02 10/16 10/30  9/18/18 10/02 10/16 10/30  9/18/18 10/02 10/16 10/30  9/18/18 10/02 10/16 10/30  9/18/18 10/02 10/16 10/30  9/18/18 10/02 10/16 10/30  Run Weeks of: 9/18 10/02 10/16 10/30  Run Weeks of: 9/18 10/02 10/16 10/30  Run Weeks of: 9/18 10/02 10/16 10/30  Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 10:00 AM 3:00 PM 30 1 1 1 1 3 D 10:00 9 90:00  Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 2 2 2 6 6 D 10:00 18 180:00  Run Weeks of: 9/24 10/08 10/22  9/24/18 10/26/18 3:00 PM 7:00 PM 30 2 5 5 5 D 10:00 18 180:00  Run Weeks of: 9/24 10/08 10/22  9/24/18 11/03/18 10:00 AM 3:00 PM 30 5 5 5 D 10:00 15 150:00  Run Weeks of: 9/29 10/20 11/03  10/21/18 11/04/18 10:00 AM 3:00 PM 30 5 5 5 D 10:00 10 10:00 0  Run Weeks of: 10/21 11/04  11/05/18 11/06/18 6:00 AM 10:00 AM 3:00 PM 30 2 2 0 0 4 D 10:00 4 40:00  11/05/18 11/06/18 3:00 PM 7:00 PM 30 2 2 0 0 0 10:00 2 20:00  11/05/18 11/06/18 3:00 PM 7:00 PM 30 2 2 0 0 0 10:00 2 20:00  11/05/18 11/06/18 6:00 AM 10:00 AM 3:00 PM 30 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

Billing Projections: By Month

Sep 18 Oct 18 Nov 18 CA 300.00 650.00 300.00 ST 300.00 600.00 350.00

✓ Print Spot Prices	TOTAL	SPOTS		125
	GROSS	S TOTAL \$		1,250.00
	ADJUS	TED SPOTS		125
	ADJUS	TED TOTAL	.\$	1,250.00
	APPRO	VE DECLI	NE	
			General Manager	
		$\circ$	2140TBUCH, 08/09/18 @4:50PM	
	$\circ$	$\bigcirc$	National Sales Manager	
			Local Sales Manager	

## Sales Order

Station:

KVRH-FM

Buyer:

300379 Agency Commission %: 0

Salesperson:

Contract Name: COMM TO ELECT STEPH HALL 3

Tax Schedule:

(None)

15

Contract#:

9/17/18

End Date:

11/06/18

Billing Cycle: Calendar

Start Date: Revenue Type: POLITICAL

Cash

Type:

2140hhou

Comm %:

Advertiser:

COMMITTEE TO ELECT STEPH HALL

Makegood Policy: Within Contract Dates

Address:

Attn: STEPHEN HALL

PO Box 516

City:

Poncha Springs State: CO Zip:

81242

Product Name: STEPHEN HALL FOR SHERIFF

Competitive Code: Political

	DA	TES	Alt	TIM	IES					DI	STR	BUTIC	N		]	D. T.	ТО	TALS	DT) (
No	START	END	wks	START	END	LEN	М	T	W	Т	F	SA S	SU	Per Wk	D/W	RATE	SPOTS	SS	PTY
1	9/17/18	11/02/18		6:00 AM	10:00 AM	30	2		2		2			6	D	10.00	24	240.00	2
	Run Weeks	of: 9/17 10	/01 10	/15 10/29									- 25						
2	9/17/18	11/02/18		10:00 AM	3:00 PM	30	1		1		1			3	D	10.00	12	120.00	2
	Run Weeks	of: 9/17 10	/01 10	/15 10/29															
3	9/17/18	11/02/18		3:00 PM	7:00 PM	30	2		2		2			6	D	10.00	24	240.00	2
	Run Weeks	of: 9/17 10	/01 10	/15 10/29															
4	9/25/18	10/25/18		6:00 AM	10:00 AM	30		2		2				4	D	10.00	12	120.00	2
	Run Weeks	of: 9/25 10	/09 10	)/23															
5	9/25/18	10/25/18		10:00 AM	3:00 PM	30		1		1				2	D	10.00	6	60.00	2
	Run Weeks	of: 9/25 10	/09 10	)/23															
6	9/25/18	10/25/18		3:00 PM	7:00 PM	30		2		2				4	D	10.00	12	120.00	2
	Run Weeks	of: 9/25 10	/09 10	)/23											·				
7	10/13/18	10/27/18		10:00 AM	3:00 PM	30						5		5	D	10.00	10	100.00	2
	Run Weeks	of: 10/13 1	0/27																
8	9/30/18	11/04/18		10:00 AM	3:00 PM	30							5	5	D	10.00	15	150.00	2
	Run Weeks	of: 9/30 10	/28 11	/04														. 18	
9	11/05/18	11/06/18		6:00 AM	10:00 AM	30	2	2						4	D	10.00	4	40.00	2
10	11/05/18	11/06/18		10:00 AM	3:00 PM	30	1	1						2	D	10.00	2	20.00	2
11	11/05/18	11/06/18		3:00 PM	7:00 PM	30	2	2						4	D	10.00	4	40.00	2

Billing Projections: By Month

	Sep 18	Oct 18	Nov 18
CA	300.00	750.00	200.00
ST	300.00	650.00	300.00

✓ Print Spot Prices	TOTAL	SPOTS		125
	GROSS	STOTAL\$		1,250.00
	ADJUS'	TED SPOTS		125
	ADJUS'	TED TOTAL	\$	1,250.00
	APPRO	VE DECLI	NE	
	$\bigcirc$	$\bigcirc$	General Manager	
		$\bigcirc$	2140TBUCH, 08/10/18 @10:06AM	
	$\bigcirc$	$\bigcirc$	National Sales Manager	
		$\bigcirc$	Local Sales Manager	

### Sales Order

KBVC-FM, KVRH-FM, KWUZ-FM Stations:

Buyer:

Contract Name: COMMITTEE TO ELECT STEPH HALL

Tax Schedule:

(None)

15

Contract#:

951001269 Agency Commission %: 0

Start Date:

8/09/18

End Date:

8/15/18

Calendar Billing Cycle:

Revenue Type: POLITICAL

Cash Type:

2140hhou Salesperson:

Comm %:

Advertiser:

COMMITTEE TO ELECT STEPH HALL

Makegood Policy: Within Contract Dates

Address:

Attn: STEPHEN HALL

PO Box 516

City:

Poncha Springs State: CO Zip:

81242

Product Name: CIVILITY IN POLITICS

Competitive Code: Political

#### **KBVC-FM**

	DA	TES	Alt	TIM	MES					DI	STR	BUT	ION			RATE	то	TALS	DTV
No	START	END	wks	START	END	LEN	М	Т	W	T	F	SA	SU	Per Wk	D/W	KATE	SPOTS	\$\$	PTY
1	8/09/18	8/14/18		6:00 AM	7:00 PM	30	5	5		5	5	5	5	30	D	10.00	30	300.00	2
2	8/15/18	8/15/18		6:00 AM	5:00 PM	30			5					5	D	10.00	5	50.00	2

TOTAL GROSS \$350.00, NET \$350.00

#### KVRH-FM

	DA	TES	Alt	TIM	MES	1.54				DI	STR	BUT	ION			RATE	то	TALS	PTY
10	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	SS	PIT
1	8/09/18	8/14/18		6:00 AM	7:00 PM	30	5	5		5	5	5	5	30	D	10.00	30	300.00	2
2	8/15/18	8/15/18		6:00 AM	5:00 PM	30			5					5	D	10.00	5	50.00	2

TOTAL GROSS \$350.00, NET \$350.00

#### **KWUZ-FM**

	DAT	TES	Alt	TIM	MES					DI	STR	BUT	ION			RATE	то	TALS	DTV
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
1	8/09/18	8/14/18		6:00 AM	7:00 PM	30	5	5		5	5	5	5	30	D	10.00	30	300.00	2
2	8/15/18	8/15/18		6:00 AM	5:00 PM	30			5					5	D	10.00	5	50.00	2

TOTAL GROSS \$350.00, NET \$350.00

Billing Projections: By Month

Aug 18

CA 1,050.00 ST 1,050.00

Print Spot Prices	TOTAL	SPOTS		105
	GROSS	S TOTAL \$		1,050.00
	ADJUS	TED SPOTS	 	105
	ADJUS	TED TOTAL	.\$	1,050.00
	APPRO	VE DECLI	NE	
		$\bigcirc$	General Manager	
		$\bigcirc$	2140TBUCH, 08/08/18 @11:46AM	
		$\bigcirc$	National Sales Manager	
	$\bigcirc$		Local Sales Manager	

# **Sales Order**

Station:	KWUZ-FM				Buyer:			
Contract Name:	COMMITTEE 2 E	ELECT STEP	HAL	L	Tax Schedule:			(None)
Contract#:				400283	Agency Commi	ission %: 0		
Start Date:	8/16/18	End Date:	1	1/06/18	Billing Cycle:	Calendar		
Revenue Type:	POLITICAL		Type:	Cash	Salesperson:	2140hhou	Comm %:	15
Advertiser:	COMMITTEE TO	ELECT STE	PH HA	ALL	Makegood Police	cy: Within Contract Dates		
Address:	Attn: STEPHEN	HALL						
	PO Box 516							
City:	Poncha Springs	State: CO Zip:		81242				
Product Name:	STEPHEN HALL	FOR SHERIF	F					
Competitive Cod	te: Political							

	DATES		Alt	TIM	LEN	DISTRIBUTION									DATE	TOTALS		DTV	
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
1	8/16/18	11/06/18		6:00 AM	10:00 AM	30	1	1	1	1	1			5	D	10.00	59	590.00	2
2	8/16/18	11/06/18		10:00 AM	3:00 PM	30	1	1	1	1	1			5	D	10.00	59	590.00	2
3	8/16/18	11/06/18		3:00 PM	7:00 PM	30	1	1	1	1	1			5	D	10.00	59	590.00	2
4	8/18/18	11/04/18		10:00 AM	3:00 PM	30						3	3	6	D	10.00	72	720.00	2

Billing Projections: By Month

	Aug 18	Sep 18	Oct 18	Nov 18
CA	480.00	900.00	930.00	180.00
ST	330.00	1.050.00	840.00	270.00

	CA	400.00	300.00	930.00	100.00				
	ST	330.00	1,050.00	840.00	270.00				
Print Spo	ot Prices					TOTAL	SPOTS		249
						GROSS	TOTAL \$		2,490.00
						ADJUS	TED SPOTS	3	249
						ADJUS	TED TOTAL	-\$	2,490.00
						ADDDO	VE DEOLI	NE	
						APPRO	VE DECLI	NE	
						$\bigcirc$	$\bigcirc$	General Manager	
						$\bigcirc$	$\bigcirc$	2140TBUCH, 08/09/18 @11:21AM	
						$\bigcirc$	$\bigcirc$	National Sales Manager	
						$\bigcirc$	$\bigcirc$	Local Sales Manager	

## Sales Order

KBVC-FM, KVRH-FM, KWUZ-FM Stations:

Buyer:

Contract Name: COMMITTEE TO ELECT STEPH HALL

Tax Schedule:

(None)

Contract#:

8/09/18

951001269 Agency Commission %: 0

Start Date:

End Date:

8/15/18 Billing Cycle:

Calendar

Comm %:

Revenue Type: POLITICAL

Type:

Cash Salesperson:

2140hhou

15

Advertiser:

COMMITTEE TO ELECT STEPH HALL

Makegood Policy: Within Contract Dates

Address:

City:

Attn: STEPHEN HALL

PO Box 516

Poncha Springs State: CO Zip:

Product Name: CIVILITY IN POLITICS

Competitive Code: Political

#### **KBVC-FM**

	DATES		Alt	TIMES		LEN	DISTRIBUTION									RATE	TOTALS		DTV
No	START	END	wks	START	END	LEN	М	Т	W	T	F	SA	SU	Per Wk	D/W	KATE	SPOTS	\$\$	E11
1	8/09/18	8/14/18		6:00 AM	7:00 PM	30	5	5		5	5	5	5	30	D	10.00	30	300.00	2
2	8/15/18	8/15/18		6:00 AM	5:00 PM	30			5					5	D	10.00	5	50.00	2

TOTAL GROSS \$350.00, NET \$350.00

#### KVRH-FM

	DATES		Alt	TIM	TIMES		DISTRIBUTION									RATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	М	Т	w	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	FII
1	8/09/18	8/14/18		6:00 AM	7:00 PM	30	5	5		5	5	5	5	30	D	10.00	30	300.00	2
2	8/15/18	8/15/18		6:00 AM	5:00 PM	30			5					5	D	10.00	5	50.00	2

TOTAL GROSS \$350.00, NET \$350.00

#### **KWUZ-FM**

		TES	Alt	TIMES			-	DISTRIBUTION								RATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	KATE	SPOTS	\$\$	EII
1	8/09/18	8/14/18		6:00 AM	7:00 PM	30	5	5		5	5	5	5	30	D	10.00	30	300.00	2
2	8/15/18	8/15/18	2 1	6:00 AM	5:00 PM	30			5	7				5	D	10.00	5	50.00	2

TOTAL GROSS \$350.00, NET \$350.00

Billing Projections: By Month

Aug 18

1,050.00 CA

ST

1,050.00

✓ Print Spot Prices	TOTAL	SPOTS		105
	GROSS	S TOTAL \$		1,050.00
	ADJUS	TED SPOT	S.	105
	ADJUS	TED TOTAL	.\$	1,050.00
	APPRO	VE DECLI	NE	
VI-D-0-1000000000000000000000000000000000	$\bigcirc$	$\bigcirc$	General Manager	
		$\bigcirc$	2140TBUCH, 08/08/18 @11:46AM	
	$\bigcirc$	$\bigcirc$	National Sales Manager	
	$\bigcirc$	$\bigcirc$	Local Sales Manager	